



WAFC Subcommittee Meeting Agenda

Thursday, May 11, 2023 at 6:00 PM

City of Whitewater Municipal Building

Community Room 1st Floor

312 W. Whitewater St.

Whitewater, WI 53190

in person and Virtual

You are invited to a Zoom webinar.

Please click the link below to join the webinar:

<https://us06web.zoom.us/j/82938272755?pwd=cjE1Z3h5ZHBlOFya1Vkk2d5NlZ3dz09>

Passcode: 260499

Or One tap mobile :

+19292056099,,82938272755#,,,,\*260499# US (New York)

+13017158592,,82938272755#,,,,\*260499# US (Washington DC)

Or Telephone:

Dial(for higher quality, dial a number based on your current location):

+1 929 205 6099 US (New York)

+1 301 715 8592 US (Washington DC)

+1 305 224 1968 US

+1 309 205 3325 US

+1 312 626 6799 US (Chicago)

Webinar ID: 829 3827 2755

Passcode: 260499

International numbers available: <https://us06web.zoom.us/j/82938272755?pwd=cjE1Z3h5ZHBlOFya1Vkk2d5NlZ3dz09>

## AGENDA

### 1. [Call to Order and Roll Call](#)

### 2. [Approval of Agenda \(Action Item\)](#)

### 3. [Hearing of Citizen Comments](#)

No formal action will be taken during this meeting, although issues raised may become part of a future agenda. Participants are allotted a 3 minute speaking period. Specific items listed on the agenda may not be discussed at this time, however, citizens are invited to speak to those issues as designated in the agenda.

### 4. [Operational and Capital Financial Planning](#)

#### 4.a. [City of Whitewater WAFC Proposal Options](#)

Documents:

[Memo WAFC Options A and B.pdf](#)

**4.b. Whitewater Unified School District WAFC Recommendation and Capital Maintenance Plan**

Documents:

WUSD Recommendation.pdf  
Capital Replacement Schedule - WUSD.pdf

**5. Future Meetings**

**6. Adjourn (Action Item)**

It is possible that members of, and possibly a quorum of members of, other governmental bodies of the municipality may be in attendance at the above-stated meeting to gather information over which they may have decision-making responsibility; no action will be taken by any governmental body at the above-stated meeting other than the governmental body specifically referred to above in this notice.

Anyone requiring special arrangements is asked to call the Office of the City Manager / City Clerk at least 24 hours prior to the meeting.

**From: John Weidl and Eric Boettcher**

**Date: May 5, 2023**

**Re: WAFC Proposal Options**

Each option is based on the budgets provided and assumes an Expense Growth rate of 3% per year, Membership Rate (monthly membership fee) Growth of 3% per year, and total Membership growth rates of 5% in 2024 and 2025, and 3% for 2026.

**Option A**

WUSD Recommended Proposal

- WUSD would be the Lessor/ Operator and be responsible for all Capital improvements amounting to \$250,000 per year estimated by WUSD. City estimates this cost at \$140,000 per year.
- WUSD would also contribute an additional \$7,500 for school use.
- City responsible for all operational expenses including utilities and chemical costs.
- If City continues current operational contribution of \$128,000 per year this would amount to a total operating shortfall of \$301,267 in 2024, \$288,306 in 2025 and \$282,910 in 2026.

**Option B**

Proposal to follow previous agreement format of 50/50 split

- Each entity would contribute \$219,000 in 2024 increased in subsequent years by an inflation rate of 3% per year towards operational expenses.
- An additional \$140,000 split between each organization would be paid to a separate capital fund for capital improvements as detailed in the CIP plan.
- This would amount to an estimated surplus of \$1,233 in 2024, a \$23,394 in 2025 and \$38,190 in 2026.

\*Note that none of these proposals address the current deficit of \$425,027.23 that is still outstanding.



Expense Growth 3% 3% 3%

Membership Growth 1.9% 5% 5% 3%

Rate Growth 3% 3% 3% 3%

**OPTION A**

REVENUES		2021 ACTUAL	2022 ACTUAL	2022 BUDGET	2023 Revised Budget	2024 Budget	2025 Budget	2026 Budget
<b>AQUATIC CTR-MEMBERSHIPS</b>			850			-		
247-41000-55	FAMILY MEMBERSHIP REVENUE	81,205	203,618	131,790	200,000	210,200	227,300	241,100
247-41100-55	MONTHLY EFT REVENUE	1,181	669	62,032	8,000	600	600	600
247-41200-55	YOUTH MEMBERSHIP REVENUE	-	-	520	-	7,000	7,600	8,100
247-41250-55	ADULT MEMBERSHIP REVENUE	60,182	699	916	1,000	14,800	16,000	17,000
247-41300-55	SENIOR MEMBERSHIP REVENUE	432	180	3,698	1,000	9,700	10,500	11,100
247-41350-55	SILVER SNEAKERS MEMBERSHIP	10,470	14,181	20,180	20,000	19,400	21,000	22,300
247-41400-55	COUPLE MEMBERSHIP REVENUE	-	-	-	-	-	-	-
247-41500-55	COLLEGE STUDENT MEMBERSHIPS	-	-	1,493	-	-	-	-
	<b>Total:</b>	<b>153,470</b>	<b>219,346</b>	<b>220,629</b>	<b>230,000</b>	<b>261,700</b>	<b>283,000</b>	<b>300,200</b>
<b>AQUATIC CTR-PASSES</b>						10%	5%	3%
247-42000-55	ADULT DAY PASSES	19,860	43,428	56,651	70,000	52,000	56,200	59,600
247-42100-55	YOUTH DAY PASSES	4,630	18,777	31,888	38,000	28,100	30,400	32,300
247-42200-55	SENIOR DAY PASSES	-	-	-	-	-	-	-
247-42300-55	GROUP RATES	4,837	11,491	9,152	14,000	11,800	12,800	13,600
	<b>Total:</b>	<b>29,327</b>	<b>73,697</b>	<b>97,692</b>	<b>122,000</b>	<b>91,900</b>	<b>99,400</b>	<b>105,500</b>
<b>AQUATIC CTR-CLASSES</b>						5%	5%	3%
247-43000-55	SWIM LESSONS	4,738	15,716	18,000	21,000	17,800	19,300	20,500
247-43100-55	SUMMER SCHOOL SWIM LESSONS	(942)	-	-	-	-	-	-
247-43200-55	LAND FITNESS CLASSES	4,271	7,668	4,000	5,000	8,400	9,100	9,700
247-43300-55	WATER CLASSES	2,376	1,175	2,500	3,000	1,400	1,500	1,600
247-43350-55	MERMAID CLASSES	-	-	-	-	-	-	-
	<b>Total:</b>	<b>10,443</b>	<b>24,560</b>	<b>24,500</b>	<b>29,000</b>	<b>27,600</b>	<b>29,900</b>	<b>31,800</b>
<b>AQUATIC CTR-RENTALS</b>						250%	10%	3%
247-44000-55	MEETING ROOM RENTALS	1,507	1,991	6,500	7,000	3,900	4,400	4,700
247-44050-55	OFFICE SPACE RENTALS	3,000	-	-	-	-	-	-
247-44100-55	WHITEWATER SCHOOL DIST RENTAL	-	1,075	1,200	1,200	3,900	4,400	4,700
247-44105-55	J HAWKS RENTALS	1,030	583	1,000	1,000	2,100	2,400	2,500
247-44200-55	BIRTHDAY PARTIES	111	142	19,000	20,000	3,100	3,500	3,700
	<b>Total:</b>	<b>5,648</b>	<b>3,792</b>	<b>27,700</b>	<b>29,200</b>	<b>13,000</b>	<b>14,700</b>	<b>15,600</b>
<b>AQUATIC CTR-OTHER INCOME</b>						10%	5%	3%
247-45000-55	LIFE GUARD REIMB WHS	-	-	-	-	-	-	-
247-45050-55	DONATIONS	200	-	5,000	6,400	-	-	-
247-45100-55	GIFT CERTIFICATES	-	-	-	-	-	-	-
247-45400-55	CONCESSIONS STAND	10,669	20,771	54,000	25,000	20,100	21,700	23,000
247-45500-55	PRO-SHOP INCOME	277	469	4,000	4,500	600	600	600
247-45505-55	MISC INCOME-ONE TIME REV	-	2,500	-	-	-	-	-
247-45600-55	GIFT CARDS/CERTIFICATES	607	724	1,500	2,000	800	900	1,000
247-45700-55	STATE SALES TAX	-	-	-	-	-	-	-
	<b>Total:</b>	<b>11,753</b>	<b>24,465</b>	<b>64,500</b>	<b>37,900</b>	<b>21,500</b>	<b>23,200</b>	<b>24,600</b>
<b>AQUATIC CTR-OTHER FIN SOURCES</b>								
247-49275-55	TRANSFER IN	-	-	-	-	-	-	-
247-49280-55	WUSD CONTRIBUTION	90,500	115,500	115,500	128,000	7,500	7,700	7,900
247-49290-55	GENERAL FUND TRANSFER	103,000	128,000	128,000	128,000	128,000	131,800	135,800
	<b>Total:</b>	<b>193,500</b>	<b>243,500</b>	<b>243,500</b>	<b>256,000</b>	<b>135,500</b>	<b>139,500</b>	<b>143,700</b>
	<b>Total Operating Revenue:</b>	<b>404,141</b>	<b>589,360</b>	<b>678,521</b>	<b>704,100</b>	<b>551,203</b>	<b>589,700</b>	<b>621,400</b>
	Facility Generated Revenue	210,641	345,860	435,021	448,100	415,700	450,200	477,700

	DESCRIPTION	2021 ACTUAL	2022 ACTUAL	2022 BUDGET	2023 Revised Budget	2024 Budget	2025 Budget	2026 Budget
<b>EXPENSES</b>								
	DESCRIPTION	2021 ACTUAL	2022 ACTUAL	2022 BUDGET	2023 Revised Budget	2024 Budget	2025 Budget	2026 Budget
<b>WAC- MANAGEMENT</b>								
247-55100-111	SALARIES/PERMANENT	68,535	85,028	86,008	96,970	98,936	101,904	104,961
247-55100-112	WAGES/OVERTIME	-	-	-	-	-	-	-
247-55100-113	WAGES/TEMPORARY	-	-	-	-	-	-	-
247-55100-150	MEDICARE TAX/CITY SHARE	1,040	1,258	1,352	1,476	1,504	1,549	1,596
247-55100-151	SOCIAL SECURITY/CITY SHARE	4,446	5,381	5,779	6,310	6,432	6,625	6,823
247-55100-152	RETIREMENT	4,436	5,381	5,591	6,594	6,728	6,929	7,137
247-55100-153	HEALTH INSURANCE	4,851	12,313	7,200	11,933	11,933	12,291	12,660
247-55100-154	HSA-HRA CONTRIBUTIONS	-	-	-	1,250	1,250	1,250	1,250
247-55100-155	WORKERS COMPENSATION	552	1,054	2,667	3,007	2,117	2,181	2,246
247-55100-156	LIFE INSURANCE	-	5	-	-	-	-	-
247-55100-158	UNEMPLOYMENT COMPENSATION	316	-	-	-	-	-	-
247-55100-211	PROFESSIONAL DEVELOPMENT	2,023	1,162	-	-	484	498	513
	<b>Total:</b>	<b>86,199</b>	<b>111,583</b>	<b>108,596</b>	<b>127,539</b>	<b>129,383</b>	<b>133,227</b>	<b>137,186</b>
<b>WAC-FRONT DESK</b>								
247-55150-112	WAGES/OVERTIME	-	-	-	-	-	-	-
247-55150-113	WAGES/TEMPORARY	64,883	84,507	58,356	61,952	68,712	70,773	72,897
247-55150-150	MEDICARE TAX/CITY SHARE	929	1,207	846	898	996	1,026	1,057
247-55150-151	SOCIAL SECURITY/CITY SHARE	3,973	5,161	3,618	3,841	4,260	4,388	4,520
247-55150-155	WORKERS COMPENSATION	2,448	2,384	1,810	1,921	1,470	1,514	1,560
247-55150-158	UNEMPLOYMENT COMPENSATION	1,101	-	-	-	-	-	-
	<b>Total:</b>	<b>73,334</b>	<b>93,258</b>	<b>64,630</b>	<b>68,612</b>	<b>75,439</b>	<b>77,702</b>	<b>80,033</b>
<b>WAC-FITNESS</b>								
247-55200-113	WAGES/TEMPORARY	-	-	-	-	-	-	-
247-55200-114	WAGES/PART-TIME/PERMANENT	32,460	41,898	43,988	25,700	70,205	72,311	74,480
247-55200-150	MEDICARE TAX/CITY SHARE	462	603	638	373	1,018	1,049	1,080
247-55200-151	SOCIAL SECURITY/CITY SHARE	1,975	2,579	2,727	1,593	4,353	4,483	4,618
247-55200-152	RETIREMENT	-	87	-	-	-	-	1
247-55200-155	WORKERS COMPENSATION	1,032	1,299	1,364	797	1,502	1,547	1,594
247-55200-158	UNEMPLOYMENT COMPENSATION	-	-	-	-	-	-	-
	<b>Total:</b>	<b>35,928</b>	<b>46,466</b>	<b>48,717</b>	<b>28,463</b>	<b>77,077</b>	<b>79,390</b>	<b>81,772</b>
<b>WAC-AQUATIC</b>								
247-55300-112	WAGES/OVERTIME	-	139	-	-	-	-	-
247-55300-113	WAGES/TEMPORARY	-	-	-	-	-	-	-
247-55300-114	WAGES/PART-TIME/PERMANENT	102,510	103,926	170,202	181,396	245,715	253,086	260,679
247-55300-150	MEDICARE TAX/CITY SHARE	1,490	1,489	2,468	2,630	3,563	3,670	3,780
247-55300-151	SOCIAL SECURITY/CITY SHARE	6,369	6,367	10,553	11,247	15,234	15,691	16,162
247-55300-152	RETIREMENT	-	1,020	-	-	-	-	-
247-55300-153	HEALTH INSURANCE	-	-	-	-	-	-	-
247-55300-155	WORKERS COMPENSATION	3,979	3,183	5,278	5,625	5,258	5,415	5,578
247-55300-158	UNEMPLOYMENT COMPENSATION	107	-	-	-	-	-	-
	<b>Total:</b>	<b>114,456</b>	<b>116,124</b>	<b>188,500</b>	<b>200,897</b>	<b>269,770</b>	<b>277,863</b>	<b>286,199</b>
<b>WAC-MAINTENANCE</b>								
247-55400-111	SALARIES/PERMANENT	3,381	12,608	-	-	4,500	4,635	4,774
247-55400-113	WAGES/TEMPORARY	-	75	-	-	-	-	-
247-55400-114	WAGES/PART-TIME/PERMANENT	-	-	-	-	-	-	-
247-55400-150	MEDICARE TAX/CITY SHARE	45	182	-	-	65	67	69
247-55400-151	SOCIAL SECURITY/CITY SHARE	192	780	-	-	277	285	294
247-55400-152	RETIREMENT	209	817	-	-	290	299	308
247-55400-153	HEALTH INSURANCE	-	497	-	-	176	181	187
247-55400-155	WORKERS COMPENSATION	37	392	-	-	139	143	148
247-55400-156	LIFE INSURANCE	0	4	-	-	1	1	1
247-55400-250	CONTRACTED SERVICES	-	-	-	-	-	-	-
	<b>Total:</b>	<b>3,865</b>	<b>15,354</b>	<b>-</b>	<b>-</b>	<b>5,448</b>	<b>5,611</b>	<b>5,780</b>

	DESCRIPTION	2021 ACTUAL	2022 ACTUAL	2022 BUDGET	2023 Revised Budget	2024 Budget	2025 Budget	2026 Budget
<b>WAC-ADMIN EXPENSES</b>								
247-55500-220	INSURANCE	-	-	-	-	-	-	-
247-55500-224	SOFTWARE/HARDWARE MAINTENANCE	1,355	4,483	4,719	8,445	4,331	4,461	4,594
247-55500-225	TELECOM/INTERNET/COMMUNICATIONS	4,087	4,563	4,668	4,766	4,516	4,651	4,791
247-55500-246	CLEANING & SUPPLIES	26	8,170	2,000	5,500	9,247	9,525	9,810
247-55500-310	FITNESS & OPERATING SUPPLIES	3,843	1,616	2,200	2,000	2,878	2,965	3,054
247-55500-312	SUPPLIES-CHECKS	-	-	-	-	-	-	-
247-55500-320	CHAMBER DUES & EXPENSES	-	274	-	275	-	-	-
247-55500-650	CREDIT CARD PROCESSING FEES	44	57	150	152	78	80	83
247-55500-652	BANK CHARGES	7	10	-	10	5	5	5
247-55500-654	PERMITS & FEES	1,005	1,005	2,500	1,050	1,035	1,066	1,098
247-55500-656	MEMBER KEY TAGS	885	1,386	1,000	1,100	1,428	1,471	1,515
247-55500-658	FAMILY PARTNERSHIP PAYOUTS	-	-	-	-	-	-	-
	<b>Total:</b>	<b>11,251</b>	<b>21,563</b>	<b>17,238</b>	<b>23,298</b>	<b>23,518</b>	<b>24,224</b>	<b>24,950</b>
<b>WAC-POOL EXPENSES</b>								
247-55600-310	OFFICE & OPERATING SUPPLIES	109	1,410	-	250	3,171	3,267	3,365
247-55600-342	WSI CLASS EXPENSE	-	634	-	100	653	673	693
247-55600-344	LIFEGUARD CLASS EXPENSE	1,663	1,695	1,000	1,500	1,954	2,013	2,073
247-55600-346	GENERAL POOL MAINTENANCE	12,963	12,001	16,000	14,000	12,000	12,360	12,731
247-55600-348	POOL EQUIPMENT	8,676	4,167	5,000	5,050	5,302	5,461	5,625
247-55600-350	POOL CHEMICALS	18,840	18,000	18,000	18,180	18,540	19,096	19,669
	<b>Total:</b>	<b>42,250</b>	<b>37,907</b>	<b>40,000</b>	<b>39,080</b>	<b>41,620</b>	<b>42,869</b>	<b>44,155</b>
<b>WAC-UTILITIES/HVAC</b>								
247-55700-221	WATER/SEWER UTILITIES	22,613	27,529	28,000	28,280	26,235	27,022	27,833
247-55700-222	ELECTRIC UTILITIES	74,473	82,711	80,000	80,800	79,595	81,983	84,443
247-55700-223	NATURAL GAS	68,776	74,817	55,000	60,000	62,965	64,854	66,799
247-55700-244	HVAC SUPPLIES	7,790	9,068	3,500	3,535	8,995	9,265	9,543
247-55700-355	REPAIR/MAINT SUPPLIES	2,400	7,489	2,500	2,525	9,864	10,160	10,465
	<b>Total:</b>	<b>176,052</b>	<b>201,614</b>	<b>169,000</b>	<b>175,140</b>	<b>187,654</b>	<b>193,283</b>	<b>199,082</b>
<b>WAC-OTHER EXPENSES</b>								
247-55800-310	OFFICE & OPERATING SUPPLIES	17,483	19,601	10,000	10,100	20,846	21,472	22,116
247-55800-324	MARKETING	5,463	5,144	8,000	8,080	8,000	8,240	8,487
247-55800-341	JANITORIAL/CLEANING SUPPLIES	535	1,055	500	505	1,087	1,119	1,153
247-55800-342	CONCESSION SUPPLIES	6,203	12,166	40,000	15,000	11,754	12,106	12,470
247-55800-344	LAND FITNESS SPECIAL EVENTS	-	194	-	-	200	206	212
247-55800-346	PRO-SHOP INVENTORY	456	654	2,000	750	674	694	715
247-55800-600	SALES TAX EXPENSE	-	-	-	-	-	-	-
247-55800-913	GENERAL FUND TRANSFER	-	-	-	-	-	-	-
	<b>Total:</b>	<b>30,140</b>	<b>38,815</b>	<b>60,500</b>	<b>34,435</b>	<b>42,561</b>	<b>43,838</b>	<b>45,153</b>
	<b>Total Operating Expenses:</b>	<b>573,474</b>	<b>682,684</b>	<b>697,181</b>	<b>697,464</b>	<b>852,470</b>	<b>878,007</b>	<b>904,310</b>
	<b>Total Operating Revenue:</b>	<b>404,141</b>	<b>589,360</b>	<b>678,521</b>	<b>704,100</b>	<b>551,203</b>	<b>589,700</b>	<b>621,400</b>
	<b>Total Operating Expenses:</b>	<b>573,474</b>	<b>682,684</b>	<b>697,181</b>	<b>697,464</b>	<b>852,470</b>	<b>878,007</b>	<b>904,310</b>
	<b>Total Operating Net:</b>	<b>(169,333)</b>	<b>(93,324)</b>	<b>(18,660)</b>	<b>6,636</b>	<b>(301,267)</b>	<b>(288,306)</b>	<b>(282,910)</b>

	DESCRIPTION	2021 ACTUAL	2022 ACTUAL	2022 BUDGET	2023 Revised Budget	2024 Budget	2025 Budget	2026 Budget
--	-------------	----------------	----------------	----------------	------------------------	----------------	----------------	----------------

**CAPITAL REVENUES**

	DESCRIPTION	2021 ACTUAL	2022 ACTUAL	2022 BUDGET	2023 Revised Budget	2024 Budget	2025 Budget	2026 Budget
247-49285-55	WUSD CAPITAL IMPROVE CONT	50,000	50,000	50,000	50,000	140,000	144,200	148,526
247-49295-55	GENERAL FUND CAP IMPROVE CONT	50,000	50,000	50,000	50,000	-	-	-
	<b>Total Capital Revenue:</b>	<b>100,000</b>	<b>100,000</b>	<b>100,000</b>	<b>100,000</b>	<b>140,000</b>	<b>144,200</b>	<b>148,526</b>

**CAPITAL EXPENSES**

	DESCRIPTION	2021 ACTUAL	2022 ACTUAL	2022 BUDGET	2023 Revised Budget	2024 Budget	2025 Budget	2026 Budget
247-55800-810	CAPITAL EQUIPMENT	9,990	18,275	-	-	-	-	-
247-55800-820	CAPITAL IMPROVEMENTS	-	-	25,000	-	-	-	-
	<b>Total Capital Expenses:</b>	<b>9,990</b>	<b>18,275</b>	<b>25,000</b>	<b>-</b>	<b>-</b>	<b>-</b>	<b>-</b>

	<b>Total Capital Revenue:</b>	<b>100,000</b>	<b>100,000</b>	<b>100,000</b>	<b>100,000</b>	<b>140,000</b>	<b>144,200</b>	<b>148,526</b>
	<b>Total Capital Expenses:</b>	<b>9,990</b>	<b>18,275</b>	<b>25,000</b>	<b>-</b>	<b>-</b>	<b>-</b>	<b>-</b>
	<b>Total Capital Net:</b>	<b>90,010</b>	<b>81,725</b>	<b>75,000</b>	<b>100,000</b>	<b>140,000</b>	<b>144,200</b>	<b>148,526</b>



# 2022-2023 Budget

## Aquatic Center Special Revenue Fund-247

141,232.82 312,680.48

852,470 878,007

Expense Growth 3% 3% 3%

Membership Growth 1.9% 5% 5% 3%

Rate Growth 3% 3% 3% 3%

### OPTION B

### REVENUES

	DESCRIPTION	2021 ACTUAL	2022 ACTUAL	2022 BUDGET	2023 Revised Budget	2024 Budget	2025 Budget	2026 Budget
<b>AQUATIC CTR-MEMBERSHIPS</b>			850			-		
247-41000-55	FAMILY MEMBERSHIP REVENUE	81,205	203,618	131,790	200,000	210,200	227,300	241,100
247-41100-55	MONTHLY EFT REVENUE	1,181	669	62,032	8,000	600	600	600
247-41200-55	YOUTH MEMBERSHIP REVENUE	-	-	520	-	7,000	7,600	8,100
247-41250-55	ADULT MEMBERSHIP REVENUE	60,182	699	916	1,000	14,800	16,000	17,000
247-41300-55	SENIOR MEMBERSHIP REVENUE	432	180	3,698	1,000	9,700	10,500	11,100
247-41350-55	SILVER SNEAKERS MEMBERSHIP	10,470	14,181	20,180	20,000	19,400	21,000	22,300
247-41400-55	COUPLE MEMBERSHIP REVENUE	-	-	-	-	-	-	-
247-41500-55	COLLEGE STUDENT MEMBERSHIPS	-	-	1,493	-	-	-	-
	<b>Total:</b>	<b>153,470</b>	<b>219,346</b>	<b>220,629</b>	<b>230,000</b>	<b>261,700</b>	<b>283,000</b>	<b>300,200</b>
<b>AQUATIC CTR-PASSES</b>						10%	5%	3%
247-42000-55	ADULT DAY PASSES	19,860	43,428	56,651	70,000	52,000	56,200	59,600
247-42100-55	YOUTH DAY PASSES	4,630	18,777	31,888	38,000	28,100	30,400	32,300
247-42200-55	SENIOR DAY PASSES	-	-	-	-	-	-	-
247-42300-55	GROUP RATES	4,837	11,491	9,152	14,000	11,800	12,800	13,600
	<b>Total:</b>	<b>29,327</b>	<b>73,697</b>	<b>97,692</b>	<b>122,000</b>	<b>91,900</b>	<b>99,400</b>	<b>105,500</b>
<b>AQUATIC CTR-CLASSES</b>						5%	5%	3%
247-43000-55	SWIM LESSONS	4,738	15,716	18,000	21,000	17,800	19,300	20,500
247-43100-55	SUMMER SCHOOL SWIM LESSONS	(942)	-	-	-	-	-	-
247-43200-55	LAND FITNESS CLASSES	4,271	7,668	4,000	5,000	8,400	9,100	9,700
247-43300-55	WATER CLASSES	2,376	1,175	2,500	3,000	1,400	1,500	1,600
247-43350-55	MERMAID CLASSES	-	-	-	-	-	-	-
	<b>Total:</b>	<b>10,443</b>	<b>24,560</b>	<b>24,500</b>	<b>29,000</b>	<b>27,600</b>	<b>29,900</b>	<b>31,800</b>
<b>AQUATIC CTR-RENTALS</b>						250%	10%	3%
247-44000-55	MEETING ROOM RENTALS	1,507	1,991	6,500	7,000	3,900	4,400	4,700
247-44050-55	OFFICE SPACE RENTALS	3,000	-	-	-	-	-	-
247-44100-55	WHITewater SCHOOL DIST RENTAL	-	1,075	1,200	1,200	3,900	4,400	4,700
247-44105-55	J HAWKS RENTALS	1,030	583	1,000	1,000	2,100	2,400	2,500
247-44200-55	BIRTHDAY PARTIES	111	142	19,000	20,000	3,100	3,500	3,700
	<b>Total:</b>	<b>5,648</b>	<b>3,792</b>	<b>27,700</b>	<b>29,200</b>	<b>13,000</b>	<b>14,700</b>	<b>15,600</b>
<b>AQUATIC CTR-OTHER INCOME</b>						10%	5%	3%
247-45000-55	LIFE GUARD REIMB WHS	-	-	-	-	-	-	-
247-45050-55	DONATIONS	200	-	5,000	6,400	-	-	-
247-45100-55	GIFT CERTIFICATES	-	-	-	-	-	-	-
247-45400-55	CONCESSIONS STAND	10,669	20,771	54,000	25,000	20,100	21,700	23,000
247-45500-55	PRO-SHOP INCOME	277	469	4,000	4,500	600	600	600
247-45505-55	MISC INCOME-ONE TIME REV	-	2,500	-	-	-	-	-
247-45600-55	GIFT CARDS/CERTIFICATES	607	724	1,500	2,000	800	900	1,000
247-45700-55	STATE SALES TAX	-	-	-	-	-	-	-
	<b>Total:</b>	<b>11,753</b>	<b>24,465</b>	<b>64,500</b>	<b>37,900</b>	<b>21,500</b>	<b>23,200</b>	<b>24,600</b>
<b>AQUATIC CTR-OTHER FIN SOURCES</b>								
247-49275-55	TRANSFER IN	-	-	-	-	-	-	-
247-49280-55	WUSD CONTRIBUTION	90,500	115,500	115,500	128,000	219,000	225,600	232,400
247-49290-55	GENERAL FUND TRANSFER	103,000	128,000	128,000	128,000	219,000	225,600	232,400
	<b>Total:</b>	<b>193,500</b>	<b>243,500</b>	<b>243,500</b>	<b>256,000</b>	<b>438,000</b>	<b>451,200</b>	<b>464,800</b>
	<b>Total Operating Revenue:</b>	<b>404,141</b>	<b>589,360</b>	<b>678,521</b>	<b>704,100</b>	<b>853,703</b>	<b>901,400</b>	<b>942,500</b>

Facility Generated Revenue 210,641 345,860 435,021 448,100 415,700 450,200 477,700

	DESCRIPTION	2021 ACTUAL	2022 ACTUAL	2022 BUDGET	2023 Revised Budget	2024 Budget	2025 Budget	2026 Budget
<b>EXPENSES</b>								
	DESCRIPTION	2021 ACTUAL	2022 ACTUAL	2022 BUDGET	2023 Revised Budget	2024 Budget	2025 Budget	2025 Budget
<b>WAC- MANAGEMENT</b>								
247-55100-111	SALARIES/PERMANENT	68,535	85,028	86,008	96,970	98,936	101,904	104,961
247-55100-112	WAGES/OVERTIME	-	-	-	-	-	-	-
247-55100-113	WAGES/TEMPORARY	-	-	-	-	-	-	-
247-55100-150	MEDICARE TAX/CITY SHARE	1,040	1,258	1,352	1,476	1,504	1,549	1,596
247-55100-151	SOCIAL SECURITY/CITY SHARE	4,446	5,381	5,779	6,310	6,432	6,625	6,823
247-55100-152	RETIREMENT	4,436	5,381	5,591	6,594	6,728	6,929	7,137
247-55100-153	HEALTH INSURANCE	4,851	12,313	7,200	11,933	11,933	12,291	12,660
247-55100-154	HSA-HRA CONTRIBUTIONS	-	-	-	1,250	1,250	1,250	1,250
247-55100-155	WORKERS COMPENSATION	552	1,054	2,667	3,007	2,117	2,181	2,246
247-55100-156	LIFE INSURANCE	-	5	-	-	-	-	-
247-55100-158	UNEMPLOYMENT COMPENSATION	316	-	-	-	-	-	-
247-55100-211	PROFESSIONAL DEVELOPMENT	2,023	1,162	-	-	484	498	513
	<b>Total:</b>	<b>86,199</b>	<b>111,583</b>	<b>108,596</b>	<b>127,539</b>	<b>129,383</b>	<b>133,227</b>	<b>137,186</b>
<b>WAC-FRONT DESK</b>								
247-55150-112	WAGES/OVERTIME	-	-	-	-	-	-	-
247-55150-113	WAGES/TEMPORARY	64,883	84,507	58,356	61,952	68,712	70,773	72,897
247-55150-150	MEDICARE TAX/CITY SHARE	929	1,207	846	898	996	1,026	1,057
247-55150-151	SOCIAL SECURITY/CITY SHARE	3,973	5,161	3,618	3,841	4,260	4,388	4,520
247-55150-155	WORKERS COMPENSATION	2,448	2,384	1,810	1,921	1,470	1,514	1,560
247-55150-158	UNEMPLOYMENT COMPENSATION	1,101	-	-	-	-	-	-
	<b>Total:</b>	<b>73,334</b>	<b>93,258</b>	<b>64,630</b>	<b>68,612</b>	<b>75,439</b>	<b>77,702</b>	<b>80,033</b>
<b>WAC-FITNESS</b>								
247-55200-113	WAGES/TEMPORARY	-	-	-	-	-	-	-
247-55200-114	WAGES/PART-TIME/PERMANENT	32,460	41,898	43,988	25,700	70,205	72,311	74,480
247-55200-150	MEDICARE TAX/CITY SHARE	462	603	638	373	1,018	1,049	1,080
247-55200-151	SOCIAL SECURITY/CITY SHARE	1,975	2,579	2,727	1,593	4,353	4,483	4,618
247-55200-152	RETIREMENT	-	87	-	-	-	-	1
247-55200-155	WORKERS COMPENSATION	1,032	1,299	1,364	797	1,502	1,547	1,594
247-55200-158	UNEMPLOYMENT COMPENSATION	-	-	-	-	-	-	-
	<b>Total:</b>	<b>35,928</b>	<b>46,466</b>	<b>48,717</b>	<b>28,463</b>	<b>77,077</b>	<b>79,390</b>	<b>81,772</b>
<b>WAC-AQUATIC</b>								
247-55300-112	WAGES/OVERTIME	-	139	-	-	-	-	-
247-55300-113	WAGES/TEMPORARY	-	-	-	-	-	-	-
247-55300-114	WAGES/PART-TIME/PERMANENT	102,510	103,926	170,202	181,396	245,715	253,086	260,679
247-55300-150	MEDICARE TAX/CITY SHARE	1,490	1,489	2,468	2,630	3,563	3,670	3,780
247-55300-151	SOCIAL SECURITY/CITY SHARE	6,369	6,367	10,553	11,247	15,234	15,691	16,162
247-55300-152	RETIREMENT	-	1,020	-	-	-	-	-
247-55300-153	HEALTH INSURANCE	-	-	-	-	-	-	-
247-55300-155	WORKERS COMPENSATION	3,979	3,183	5,278	5,625	5,258	5,415	5,578
247-55300-158	UNEMPLOYMENT COMPENSATION	107	-	-	-	-	-	-
	<b>Total:</b>	<b>114,456</b>	<b>116,124</b>	<b>188,500</b>	<b>200,897</b>	<b>269,770</b>	<b>277,863</b>	<b>286,199</b>
<b>WAC-MAINTENANCE</b>								
247-55400-111	SALARIES/PERMANENT	3,381	12,608	-	-	4,500	4,635	4,774
247-55400-113	WAGES/TEMPORARY	-	75	-	-	-	-	-
247-55400-114	WAGES/PART-TIME/PERMANENT	-	-	-	-	-	-	-
247-55400-150	MEDICARE TAX/CITY SHARE	45	182	-	-	65	67	69
247-55400-151	SOCIAL SECURITY/CITY SHARE	192	780	-	-	277	285	294
247-55400-152	RETIREMENT	209	817	-	-	290	299	308
247-55400-153	HEALTH INSURANCE	-	497	-	-	176	181	187
247-55400-155	WORKERS COMPENSATION	37	392	-	-	139	143	148
247-55400-156	LIFE INSURANCE	0	4	-	-	1	1	1
247-55400-250	CONTRACTED SERVICES	-	-	-	-	-	-	-
	<b>Total:</b>	<b>3,865</b>	<b>15,354</b>	<b>-</b>	<b>-</b>	<b>5,448</b>	<b>5,611</b>	<b>5,780</b>

	DESCRIPTION	2021 ACTUAL	2022 ACTUAL	2022 BUDGET	2023 Revised Budget	2024 Budget	2025 Budget	2026 Budget
<b>WAC-ADMIN EXPENSES</b>								
247-55500-220	INSURANCE	-	-	-	-	-	-	-
247-55500-224	SOFTWARE/HARDWARE MAINTENANCE	1,355	4,483	4,719	8,445	4,331	4,461	4,594
247-55500-225	TELECOM/INTERNET/COMMUNICATIONS	4,087	4,563	4,668	4,766	4,516	4,651	4,791
247-55500-246	CLEANING & SUPPLIES	26	8,170	2,000	5,500	9,247	9,525	9,810
247-55500-310	FITNESS & OPERATING SUPPLIES	3,843	1,616	2,200	2,000	2,878	2,965	3,054
247-55500-312	SUPPLIES-CHECKS	-	-	-	-	-	-	-
247-55500-320	CHAMBER DUES & EXPENSES	-	274	-	275	-	-	-
247-55500-650	CREDIT CARD PROCESSING FEES	44	57	150	152	78	80	83
247-55500-652	BANK CHARGES	7	10	-	10	5	5	5
247-55500-654	PERMITS & FEES	1,005	1,005	2,500	1,050	1,035	1,066	1,098
247-55500-656	MEMBER KEY TAGS	885	1,386	1,000	1,100	1,428	1,471	1,515
247-55500-658	FAMILY PARTNERSHIP PAYOUTS	-	-	-	-	-	-	-
	<b>Total:</b>	<b>11,251</b>	<b>21,563</b>	<b>17,238</b>	<b>23,298</b>	<b>23,518</b>	<b>24,224</b>	<b>24,950</b>
<b>WAC-POOL EXPENSES</b>								
247-55600-310	OFFICE & OPERATING SUPPLIES	109	1,410	-	250	3,171	3,267	3,365
247-55600-342	WSI CLASS EXPENSE	-	634	-	100	653	673	693
247-55600-344	LIFEGUARD CLASS EXPENSE	1,663	1,695	1,000	1,500	1,954	2,013	2,073
247-55600-346	GENERAL POOL MAINTENANCE	12,963	12,001	16,000	14,000	12,000	12,360	12,731
247-55600-348	POOL EQUIPMENT	8,676	4,167	5,000	5,050	5,302	5,461	5,625
247-55600-350	POOL CHEMICALS	18,840	18,000	18,000	18,180	18,540	19,096	19,669
	<b>Total:</b>	<b>42,250</b>	<b>37,907</b>	<b>40,000</b>	<b>39,080</b>	<b>41,620</b>	<b>42,869</b>	<b>44,155</b>
<b>WAC-UTILITIES/HVAC</b>								
247-55700-221	WATER/SEWER UTILITIES	22,613	27,529	28,000	28,280	26,235	27,022	27,833
247-55700-222	ELECTRIC UTILITIES	74,473	82,711	80,000	80,800	79,595	81,983	84,443
247-55700-223	NATURAL GAS	68,776	74,817	55,000	60,000	62,965	64,854	66,799
247-55700-244	HVAC SUPPLIES	7,790	9,068	3,500	3,535	8,995	9,265	9,543
247-55700-355	REPAIR/MAINT SUPPLIES	2,400	7,489	2,500	2,525	9,864	10,160	10,465
	<b>Total:</b>	<b>176,052</b>	<b>201,614</b>	<b>169,000</b>	<b>175,140</b>	<b>187,654</b>	<b>193,283</b>	<b>199,082</b>
<b>WAC-OTHER EXPENSES</b>								
247-55800-310	OFFICE & OPERATING SUPPLIES	17,483	19,601	10,000	10,100	20,846	21,472	22,116
247-55800-324	MARKETING	5,463	5,144	8,000	8,080	8,000	8,240	8,487
247-55800-341	JANITORIAL/CLEANING SUPPLIES	535	1,055	500	505	1,087	1,119	1,153
247-55800-342	CONCESSION SUPPLIES	6,203	12,166	40,000	15,000	11,754	12,106	12,470
247-55800-344	LAND FITNESS SPECIAL EVENTS	-	194	-	-	200	206	212
247-55800-346	PRO-SHOP INVENTORY	456	654	2,000	750	674	694	715
247-55800-600	SALES TAX EXPENSE	-	-	-	-	-	-	-
247-55800-913	GENERAL FUND TRANSFER	-	-	-	-	-	-	-
	<b>Total:</b>	<b>30,140</b>	<b>38,815</b>	<b>60,500</b>	<b>34,435</b>	<b>42,561</b>	<b>43,838</b>	<b>45,153</b>
	<b>Total Operating Expenses:</b>	<b>573,474</b>	<b>682,684</b>	<b>697,181</b>	<b>697,464</b>	<b>852,470</b>	<b>878,007</b>	<b>904,310</b>
	<b>Total Operating Revenue:</b>	<b>404,141</b>	<b>589,360</b>	<b>678,521</b>	<b>704,100</b>	<b>853,703</b>	<b>901,400</b>	<b>942,500</b>
	<b>Total Operating Expenses:</b>	<b>573,474</b>	<b>682,684</b>	<b>697,181</b>	<b>697,464</b>	<b>852,470</b>	<b>878,007</b>	<b>904,310</b>
	<b>Total Operating Net:</b>	<b>(169,333)</b>	<b>(93,324)</b>	<b>(18,660)</b>	<b>6,636</b>	<b>1,233</b>	<b>23,394</b>	<b>38,190</b>

	DESCRIPTION	2021 ACTUAL	2022 ACTUAL	2022 BUDGET	2023 Revised Budget	2024 Budget	2025 Budget	2026 Budget
<b>CAPITAL REVENUES</b>								
	DESCRIPTION	2021 ACTUAL	2022 ACTUAL	2022 BUDGET	2023 Revised Budget	2024 Budget	2025 Budget	2026 Budget
247-49285-55	WUSD CAPITAL IMPROVE CONT	50,000	50,000	50,000	50,000	70,000	72,100	74,263
247-49295-55	GENERAL FUND CAP IMPROVE CONT	50,000	50,000	50,000	50,000	70,000	72,100	74,263
	<b>Total Capital Revenue:</b>	<b>100,000</b>	<b>100,000</b>	<b>100,000</b>	<b>100,000</b>	<b>140,000</b>	<b>144,200</b>	<b>148,526</b>
<b>CAPITAL EXPENSES</b>								
	DESCRIPTION	2021 ACTUAL	2022 ACTUAL	2022 BUDGET	2023 Revised Budget	2024 Budget	2025 Budget	2026 Budget
247-55800-810	CAPITAL EQUIPMENT	9,990	18,275	-	-	-	-	-
247-55800-820	CAPITAL IMPROVEMENTS	-	-	25,000	-	-	-	-
	<b>Total Capital Expenses:</b>	<b>9,990</b>	<b>18,275</b>	<b>25,000</b>	<b>-</b>	<b>-</b>	<b>-</b>	<b>-</b>
	<b>Total Capital Revenue:</b>	<b>100,000</b>	<b>100,000</b>	<b>100,000</b>	<b>100,000</b>	<b>140,000</b>	<b>144,200</b>	<b>148,526</b>
	<b>Total Capital Expenses:</b>	<b>9,990</b>	<b>18,275</b>	<b>25,000</b>	<b>-</b>	<b>-</b>	<b>-</b>	<b>-</b>
	<b>Total Capital Net:</b>	<b>90,010</b>	<b>81,725</b>	<b>75,000</b>	<b>100,000</b>	<b>140,000</b>	<b>144,200</b>	<b>148,526</b>

WAFC Facility Replacement Plan

Budget Year 2024

138,033 2,622,767

Item	Location	Material / Descr	Units /		Item Cost	Install Year	Lifespan	Budget Yr Age	Annual Funding Req't	Accumulated Funding Req't	Planned Replacement Year	Budget Repl Year
			Quantity	Unit Cost (\$)								
Roof	19	Ballasted Rubber Membrane	9,600	15	144,000	2001	30	23	4,800	110,400	2031	
Roof	20	Ballasted Rubber Membrane	3,700	15	55,500	2001	30	23	1,850	42,550	2031	
Roof	22	Ballasted Rubber Membrane	10,000	15	150,000	2001	30	23	5,000	115,000	2031	
Roof	23	Ballasted Rubber Membrane	7,100	15	106,500	2001	30	23	3,550	81,650	2031	
Roof	24	Ballasted Rubber Membrane	5,300	15	79,500	2001	30	23	2,650	60,950	2031	
HVAC	Lap Pool	Hot Water Air Handler	1	230,000	230,000	2001	25	23	9,200	211,600	2026	
HVAC	Activity Pool	Hot Water Air Handler	1	230,000	230,000	2001	25	23	9,200	211,600	2026	
HVAC	Locker Room / Lobby / Common Areas	Gas - Forced Air	1	40,000	40,000	2001	15	23	2,667	61,333	2016	
HVAC	Fitness Center	Gas - Forced Air	1	18,500	18,500	2022	15	2	1,233	2,467	2037	
HVAC	Mechanical Room	Hot Water Air Handler	1	50,000	50,000	2001	25	23	2,000	46,000	2026	
HVAC Controls	Mechanical Room	Integrated Control System	1	150,000	150,000	2001	30	23	5,000	115,000	2031	
Boiler 1	Mechanical Room	Gas Fired 2MM BTU	1	50,000	50,000	2018	15	6	3,333	20,000	2033	
Boiler 2	Mechanical Room	Gas Fired 2MM BTU	1	50,000	50,000	2019	15	5	3,333	16,667	2034	
Boiler 3	Mechanical Room	Gas Fired 2MM BTU	1	50,000	50,000	2001	15	23	3,333	76,667	2016	
Boiler 4	Mechanical Room	Gas Fired 2MM BTU	1	50,000	50,000	2001	15	23	3,333	76,667	2016	
Water Heater	Locker Rooms	Gas Fired 200K BTU	1	20,000	20,000	2015	15	9	1,333	12,000	2030	
Water Softener	Locker Rooms	Size?	1	10,000	10,000	2019	15	5	667	3,333	2034	
Pool Deck	Lap Pool	Tile	10,000	20	200,000	2001	30	23	6,667	153,333	2031	
Pool Liner/Floor	Lap Pool	Cement Plaster	1	100,000	100,000	2001	30	23	3,333	76,667	2031	
Pool Deck	Activity Pool	Stamped Concrete	10,000	5	50,000	2001	30	23	1,667	38,333	2031	
Tiling / Floor	Whirlpool Area	Tile / Cement Plaster	1		-	2001	30	23	-	-	2031	
Pool Liner/Floor	Activity Pool	Cement Plaster	1	100,000	100,000	2001	30	23	3,333	76,667	2031	
Tiling	Mens Locker Room	Tile	1,000	20	20,000	2001	30	23	667	15,333	2031	
Tiling	Womens Locker Room	Tile	1,000	20	20,000	2001	30	23	667		2031	
Tiling	Family Locker Room	Tile	1,300	20	26,000	2001	15	23	1,733	39,867	2016	
Lockers / Fit out	Mens Locker Room	Lockers, benches, dryers, showers, ceiling tile, etc.	1	50,000	50,000	2001	30	23	1,667	38,333	2031	
Lockers / Fit out	Womens Locker Room	Lockers, benches, dryers, showers, ceiling tile, etc.	1	50,000	50,000	2001	30	23	1,667	38,333	2031	
Lockers / Fit out	Family Locker Room	Lockers, benches, dryers, showers, ceiling tile, etc.	1	50,000	50,000	2001	30	23	1,667	38,333	2031	
Heat Exchanger	Lap Pool	Assembly, Installed	1	30,000	30,000	2001	25	23	1,200	27,600	2026	
Heat Exchanger	Activity Pool	Assembly, Installed	1	30,000	30,000	2001	25	23	1,200	27,600	2026	
Heat Exchanger	Whirlpool	Assembly, Installed	1	30,000	30,000	2001	25	23	1,200	27,600	2026	
Pool Filter	Lap Pool	Pump, Sand media, Valves, etc.	2	20,000	40,000	2001	20	23	2,000	46,000	2021	
Pool Filter	Activity Pool	Pump, Sand media, Valves, etc.	2	20,000	40,000	2001	20	23	2,000	46,000	2021	
Pool Pump	Body Slide	15 HP	1	5,000	5,000	2001	20	23	250	5,750	2021	
Pool Pump	Vortex	15 HP	1	5,000	5,000	2001	20	23	250	5,750	2021	
Pool Pump	Activity Pool	20 HP	1	8,000	8,000	2001	20	23	400	9,200	2021	
Pool Pump	Activity Pool	30 HP	1	13,000	13,000	2001	20	23	650	14,950	2021	



	<b>City Proposal</b>	<b>WUSD Proposal</b>
Referendum	No	No
Years of Extension	15	1-3
Maintenance	City	WUSD
Arrangement of Lessor/Lessee	WUSD owns, leases for \$1	WUSD Lessor/Operator- Maintains: Building Envelope (roofs, windows, doors, masonry, etc.), Parking Lot, HVAC, Lighting, Fire Alarm System, Pool Floor City of Whitewater Lessee- Responsible for all operating costs associated with the WAFC business including: Utilities, Pool Chemicals, Play Structures, Fitness Equipment
Annual Budget from WUSD	\$220,000	\$250,000 (Directly to capital improvement kept by WUSD in Fund 80) Rental Fee for usage: \$7,500 (Summer School and Swim season)
Amount from City	\$220,000	City does all operations
Revenue	\$300,000 goes to City	City takes revenue
Capitol Plan	*\$60,000	\$0 (See above)
Deficit	\$222,008 WUSD; \$222,008 City	\$150,000 (1/3) WUSD; \$300,000 (2/3) City

#### Statements about the Proposed Plan:

- The Whitewater Unified School District (WUSD) values and supports the community pool. As such, we are determined to find a solution that repositions WUSD to focus on the facility, not the operations of an Aquatic Facility and Fitness Center.
- The education of students is the WUSD School Board's priority for making financial decisions.
- The City of Whitewater's annual budget request of the school district is the educational equivalent of 4.5 FTE teacher salaries or the same cost as our entire elementary math curriculum adoption, which supports approximately 1000 students for the next several years of instruction.
- The overall commitment for a 15 year agreement is an ask of \$4.5 million (\$220K annually to operations + \$60K + ½ the deficit). A 15 year agreement is not financially prudent and can not financially be planned or predicted for within the confines of the Wisconsin school funding formula.
- The City's proposed \$60,000 for capital improvements is not enough and does not align with any of the experts' review of impending costs for updates that have not occurred for an aging facility.
- The City is asking for a significant increase in years when they have not provided an operational plan that demonstrates that they will break even on the revenues and expenses of operating the pool. WUSD has communicated to the City that we can not continue to fund an operation that we do not have direct oversight of, especially when historically expenditures are exceeding revenues. We feel it would be irresponsible for our taxpayers.
- While the contract specifically specifies that funding should have been planned and saved for operational improvements since our pay-in from 2016 annually, there has been \$0 of the WUSD funding committed to capital improvements.
- As it stands, the suggested agreement continues a partnership agreement that has WUSD responsible for outcomes that we can not control. For example, the cost to replace an aged HVAC system would be split, however, WUSD does not maintain the system.
- Since 2016, WUSD has paid \$882,000 and none has been applied to capital improvements(invoice history listed below).
- Even with this significant sum of payment, WUSD is forced to rent the facility for \$7500 per year for very little usage. (For approx 420 hours of usage.)
- The WUSD School Board assures that that City's Park and Recreation Department utilizes WUSD facilities all year round, our online registration system for sports and afterschool programming at no charge. (Policy Series 830)

#### Our counterpart costs to run a pool:

- Menomonee Falls - \$100,000
- Muskego - \$100,000
- Manitowoc - \$80,000/90,000
- Elkhorn - \$60,000
- Jefferson - \$100,000 (*Utilities not included*)

Invoice Date	Invoice Number	Description	Amount	Due Date
12/19/2022	43422827	2ND HALF 22-23 AQUATIC	\$ 82,750.00	01/18/2023
06/07/2022	43422482	1ST HALF 2022 AQUATIC	\$ 82,750.00	07/07/2022
12/09/2021	43422280	2ND HALF 2021-22 AQUAT	\$ 76,500.00	01/08/2022
06/03/2021	43421986	1ST HALF 2021 AQUATIC	\$ 64,000.00	07/03/2021
11/30/2020	43421678	AQUATIC CENTER CONTRIB	\$ 64,000.00	12/30/2020
06/16/2020	43421444	AQUATIC CENTER CONTRIB	\$ 64,000.00	07/15/2020
12/04/2019	43421141	AQUATIC CENTER CONTRIB	\$ 64,000.00	12/12/2019
01/31/2019	43420753	AQUATIC CENTER CAPITAL	\$ 128,000.00	01/31/2019
12/08/2017	43419996	2017 CAPITAL CONTRIBUT	\$ 50,000.00	12/08/2017
07/06/2017	43419789	AQUATIC CENTER CONTRIB	\$ 78,000.00	07/06/2017
01/18/2017	43419374	AQUATIC CTR ANNUAL CAP	\$ 50,000.00	01/18/2017
10/27/2016	43419373	ANNUAL SUPPORT AQUATIC	\$ 78,000.00	10/27/2016
			\$ 882,000.00	

W AFC Facility Replacement Plan

Budget Year 2024

138,033 2,622,767

Item	Location	Material / Descr	Units / Quantity	Unit Cost (\$)	Item Cost	Install Year	Lifespan	Budget Yr Age	Annual Funding Req't	Accumulated Funding Req't	Planned Replacement Year	Budget Repl Year	
Roof	19	Ballasted Rubber Membrane	9,600	15	144,000	2001	30	23	4,800	110,400	2,031		20-25 year life span Quotes are 4 years old
Roof	20	Ballasted Rubber Membrane	3,700	15	55,500	2001	30	23	1,850	42,550	2,031		20-25 year life span Quotes are 4 years old
Roof	22	Ballasted Rubber Membrane	10,000	15	150,000	2001	30	23	5,000	115,000	2,031		20-25 year life span Quotes are 4 years old
Roof	23	Ballasted Rubber Membrane	7,100	15	106,500	2001	30	23	3,550	81,650	2,031		20-25 year life span Quotes are 4 years old
Roof	24	Ballasted Rubber Membrane	5,300	15	79,500	2001	30	23	2,650	60,950	2,031		20-25 year life span Quotes are 4 years old
HVAC	Lap Pool	Hot Water Air Handler	1	230,000	230,000	2001	25	23	9,200	211,600	2,026		This replacement costs seems low
HVAC	Activity Pool	Hot Water Air Handler	1	230,000	230,000	2001	25	23	9,200	211,600	2,026		This replacement costs seems low
HVAC	Locker Room / Lobby / Common Areas	Gas - Forced Air	1	40,000	40,000	2001	15	23	2,667	61,333	2,016		
HVAC	Fitness Center	Gas - Forced Air	1	18,500	18,500	2022	15	2	1,233	2,467	2,037		
HVAC	Mechanical Room	Hot Water Air Handler	1	50,000	50,000	2001	25	23	2,000	46,000	2,026		
HVAC Controls	Mechanical Room	Integrated Control System	1	150,000	150,000	2001	30	23	5,000	115,000	2,031		Needs to be done ASAP
Boiler 1	Mechanical Room	Gas Fired 2MM BTU	1	50,000	50,000	2018	15	6	3,333	20,000	2,033		
Boiler 2	Mechanical Room	Gas Fired 2MM BTU	1	50,000	50,000	2019	15	5	3,333	16,667	2,034		
Boiler 3	Mechanical Room	Gas Fired 2MM BTU	1	50,000	50,000	2001	15	23	3,333	76,667	2,016		\$75,000
Boiler 4	Mechanical Room	Gas Fired 2MM BTU	1	50,000	50,000	2001	15	23	3,333	76,667	2,016		\$75,000
Water Heater	Locker Rooms	Gas Fired 200K BTU	1	20,000	20,000	2015	15	9	1,333	12,000	2,030		
Water Softener	Locker Rooms	Size?	1	10,000	10,000	2019	15	5	667	3,333	2,034		
Pool Deck	Lap Pool	Tile	10,000	20	200,000	2001	30	23	6,667	153,333	2,031		
Pool Liner/Floor	Lap Pool	Cement Plaster	1	100,000	100,000	2001	30	23	3,333	76,667	2,031		
Pool Deck	Activity Pool	Stamped Concrete	10,000	5	50,000	2001	30	23	1,667	38,333	2,031		
Tiling / Floor	Whirlpool Area	Tile / Cement Plaster	1		-	2001	30	23	-	-	2,031		
Pool Liner/Floor	Activity Pool	Cement Plaster	1	100,000	100,000	2001	30	23	3,333	76,667	2,031		
Tiling	Mens Locker Room	Tile	1,000	20	20,000	2001	30	23	667	15,333	2,031		
Tiling	Womens Locker Room	Tile	1,000	20	20,000	2001	30	23	667		2,031		
Tiling	Family Locker Room	Tile	1,300	20	26,000	2001	15	23	1,733	39,867	2,016		
Lockers / Fit out	Mens Locker Room	Lockers, benches, dryers, showers, ceiling tile, etc.	1	50,000	50,000	2001	30	23	1,667	38,333	2,031		
Lockers / Fit out	Womens Locker Room	Lockers, benches, dryers, showers, ceiling tile, etc.	1	50,000	50,000	2001	30	23	1,667	38,333	2,031		

WAFC Facility Replacement Plan

Budget Year		2024							138,033	2,622,767		
Lockers / Fit out	Family Locker Room	Lockers, benches, dryers, showers, ceiling tile, etc.	1	50,000	50,000	2001	30	23	1,667	38,333	2,031	
Heat Exchanger	Lap Pool	Assembly, Installed	1	30,000	30,000	2001	25	23	1,200	27,600	2,026	
Heat Exchanger	Activity Pool	Assembly, Installed	1	30,000	30,000	2001	25	23	1,200	27,600	2,026	
Heat Exchanger	Whirlpool	Assembly, Installed	1	30,000	30,000	2001	25	23	1,200	27,600	2,026	
<b>Parking Lot</b>	<b>East of Building</b>	<b>Asphalt</b>	<b>1</b>	<b>200,000</b>	<b>200,000</b>	<b>2001</b>	<b>25-30</b>					
Pool Filter	Lap Pool	Pump, Sand media, Valves, etc.	2	20,000	40,000	2001	20	23	2,000	46,000	2,021	
Pool Filter	Activity Pool	Pump, Sand media, Valves, etc.	2	20,000	40,000	2001	20	23	2,000	46,000	2,021	
Pool Pump	Body Slide	15 HP	1	5,000	5,000	2001	20	23	250	5,750	2,021	
Pool Pump	Vortex	15 HP	1	5,000	5,000	2001	20	23	250	5,750	2,021	
Pool Pump	Activity Pool	20 HP	1	8,000	8,000	2001	20	23	400	9,200	2,021	
Pool Pump	Activity Pool	30 HP	1	13,000	13,000	2001	20	23	650	14,950	2,021	
Pool Pump	Current Channel - lazy river	20 HP	1	8,000	8,000	2001	20	23	400	9,200	2,021	
Pool Pump	Lap Pool	15 HP	1	5,000	5,000	2018	15	6	333	2,000	2,033	
Water Treatment	Lap, Leisure, Whirlpool	Chemical Treatment System	1	10,000	10,000	2001	15	23	667	15,333	2,016	
Water Treatment	Lap, Leisure, Whirlpool	Chemical System Controls	3	2,167	6,500	2022	15	2	433	867	2,037	
Water Treatment	Lap, Leisure, Whirlpool	UV Treatment System	3	10,000	30,000	2012	15	12	2,000	24,000	2,027	
Water Slide	Activity Pool	Assembly, Installed	1	100,000	100,000	2001	30	23	3,333	76,667	2,031	\$100,000 - \$265,000 According to the Cullen Quote
Water Play Features	Activity Pool	Assembly, Installed	2	15,000	30,000	2001	20	23	1,500	34,500	2,021	\$25,000 - \$45,000 According to the Cullen Quote
Flooring	Common Areas	Carpet	10,000	8	75,000	2016	15	8	5,000	40,000	2,031	
Paint / Wall Surfaces	Common Areas	Paint	1	50,000	50,000	2016	15	8	3,333	26,667	2,031	
Fitness Equip	Fitness Center	Cardio Equip	1	50,000	50,000	2016	15	8	3,333	26,667	2,031	
Fitness Equip	Fitness Center	Strength Equip	1	50,000	50,000	2018	15	6	3,333	20,000	2,033	
Fitness Equip	Fitness Center	Free Weights	1	50,000	50,000	2001	30	23	1,667	38,333	2,031	
Exterior Doors	Throughout	Varied, installed	10	2,500	25,000	2016	15	8	1,667	13,333	2,031	
Interior Doors	Common Areas	Varied, installed	20	1,000	20,000	2016	15	8	1,333	10,667	2,031	
Paint / Wall Surfaces	Common Areas	Paint	1	50,000	50,000	2016	15	8	3,333	26,667	2,031	
Tuckpointing	Exterior	Contract basis	1	300,000	300,000	2001	50	23	6,000	138,000	2,051	Some repairs needed now (~\$100,00)
Windows / Glazing	Exterior	Contract basis	1	250,000	250,000	2001	50	23	5,000	115,000	2,051	
Equipment	Concession Area	Counters, Freezers, Refrigerator, etc.	1	20,000	20,000	2001	30	23	667	15,333	2,031	
				<b>3,680,500</b>								